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SNGISED TCUDORP TCERID CILOBMYS
 dna saD sihdamerP 1 ladnaM ramuK sepirN

inaylaK fo ytisrevinU scitsitatS fo tnemtrapeD
1 attuclaC fo ytisrevinU ,scitsitatS fo tnemtrapeD

TCARTSBA

tcerid cilobmys eht enifed ot sngised kcolb fo secirtam ecnedicni eht ot deilppa neeb sah secirtam fo tcudorp tcerid cilobmyS
sngised tnenopmoc eht fo seitreporp eht woh ees ot deiduts neeb evah ngised devired eht fo seitreporp ehT .sngised tcudorp

.ngised wen eht otni deirrac era

sdrowyeK : yranreT ,ngised kcolb decnalab puorg-artnI dna -retnI ,ngised yraniB ,)PDS( tcudorp tcerid cilobmyS
.ngised mumitpO ,ngised

 : noitacifissalC tcejbuS SMA 01x 26

: noitcudortnI.1

secirtam fo tcudorp tcerid cilobmys fo dohtem ehT
etareneg ot )6591( itrovarkahC yb desu tsrif saw

morf snalp lairotcaf lanoitcarf lacirtemmysa lanogohtro
-caf lacirtemmys fo nalp lanogohtro fo noitulos nwonk
egap 1891( reredeF dna tayadeH ,eotkaR .sngised lairot
eht desu evah ew ereH .tcudorp tcerid ti demret )781
-nitsid ot )PDS( tcudorp tcerid cilobmys erutalcnemon
.secirtam fo tcudorp tcerid yranidro eht morf ti hsiug
noitarepo eht gnisu yb demrof neeb evah sngised weN
nI .sngised owt fo secirtam ecnedicni eht ot PDS fo
-ed devired eht fo sisylana eht nevig evah ew 2 noitceS
devired eht fo xirtam-C eht woh nwohs evah dna ngis
eW .sngised tnenopmoc eht fo esoht ot detaler si ngised
ytilamitpo eht yduts ot spihsnoitaler eseht detiolpxe evah
emos ,3 noitces nI .4 noitces ni sngised devired eht fo
neeb evah sngised devired eseht fo stcepsa lairotanibmoc

.deiduts

.snoitinifed eht evig su teL

1.1 – noitinifeD

a( = A teL 1 a , 2 a ,... , n b( = B dna ) 1 b , 2 b ,. . . , n eb )
 m ylevitcepser  p dna n -mys eht nehT .secirtam q 

 A tcudorp tcerid cilob  )p + m( redro fo  B fo qn 
yb denifed si B dna A secirtam eht

nn22111

nn21221

a....aa....aa....aa ....
BA

b....bb....bb....bb ....

: 2.1 noitinifeD

 teL 11 bv
1N n( = 1 n , 2  ,... , )n

1b  dna 22 bv
2N = 

m( 1 m , 2  ,... , )m
2b owt fo secirtam ecnedicni eht eb 

d sngised 1 d dna 2 esohw d ngised eht nehT .ylevitcepser 
N yb nevig si N xirtam ecnedicni 1 N 2 eht dellac si 

d fo )DPDS( ngiseD tcudorP tceriD cilobmyS 1 d dna 2.

cilobmys eht taht noitinifed eht morf raelc si tI
d sngised eht fo d ngised tcudorp tcerid 1 d dna 2 -bo si 

d fo kcolb yreve fo stnemtaert eht gnikat yb deniat 2 otni 
d fo kcolb yreve 1 b eht fi niagA . 1 N fo snmuloc 1 era 

v a fo ngised lanoitcarf a evig ot demussa i -irepxe rotcaf-
rekcenorK si d neht kcolb elgnis a ni ,2 ,1 = i tnem
.sngised lanoitcarf eht fo )5591 ,katraV( ngised tcudorp

 A ni srotcev eht fi taht nees eb yam tI ,sralacs eb B 
neleZ dna naijkruK fo esnes eht ni PDS eht teg ew neht

.)2691(

: ngiseD tcudorP tceriD cilobmyS eht fo sisylanA.2

v sretemarap eht htiw ngised yranib a eb d teL i b , i r , i,

ki  dna )(i
jj d = d ngised eht nehT .2 ,1 = i , 1 d 2 eht sah 

.sretemarap gniwollof

v = v 1 v + 2 b = b  , 1b2 k = k , 1 k + 2

r 01  tnemtaert yna fo noitacilper = 1j1t d fo 1 b = 2r1

r 02  tnemtaert yna fo noitacilper = 2j2t d fo 2 b = 1r2

)1(
jj  tnemtaert yna fo noitacilper = j1t  dna j1t fo

d1 b = 2
)1(
jj

)2(
jj  tnemtaert yna fo noitacilper = j2t  dna j2t

d fo 1 b = 2
)2(

jj

jj  tnemtaert yna fo noitacilper = j1t d fo 1 dna 

j2t d fo 2 r = 1 r 2 )1.2( 
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sngised tcudorp tcerid cilobmyS

 teL 112
1

112
vv

11 NNbKIrbC 11 ,

22 '1
22122122

vv NNbKIrbC

  dna 21 1'
21211221 )(vv ErrKCC

I erehw i v = i v i E dna 2 ,1 = i xirtam ytitnedi 21 v = 1 
v2 nwohs eb nac ti nehT .ytinu stnemele lla htiw xirtam 

yb nevig si d ngised eht fo xirtam-C eht taht

vvC 2212

2111
CC
CC

)2.2(

  teL )t,t(t 21 d ngised eht fo stnemtaert fo rotcev =

t erehw ’
1 t( = 11 t , 21 t ,... , 1v1 eht fo stnemtaert fo rotcev = )
d ngised 1

 dna )t,...,t,t(t
2v222122 fo stnemtaert fo rotcev = 

d ngised eht 2

 enifed osla eW )Q,Q(Q 21 detsujda fo rotcev eht ,
erehw ,d ni stnemtaert eht rof slatot tnemtaert

)Q,...,Q,Q(Q
ivi2i1i1 dna 2 ,1 = i ,

1 2

1i1

b

1

b

1a
)(j

1
ijiji BWkTQ ,,

B erehw  eht stneserper , ),( latot kcolb ht 
W 1j ( ’ j eht ni tnemele eht stneserper  ,) 1 dna wor ht

),( dna ,d fo N xirtam ecnedicni eht fo nmuloc ht

iji
T  tnemtaert eht fo latot tnemtaert eht si 

iji
T morf 

 ,d ngised 1 ji v  i ,,1 b1,1 b2,1 i .2

C tel oslA 1 d fo xirtam-C eht eb 1 eht nehT .2 ,1 = i ,
  rof snoitauqe lamron decuder )t,t(t 21

emoceb

k 1- b2 r( 1k2I1 k+ 1C1 t) 1 k- 1- r( 1r2 E) 21 t2 Q= 1 )3.2(        

k- 1- r( 1r2 E) 12 t1 k+ 1- b1 r( 2k1I2 k+ 2C2 t) 2 Q = 2

-auqe fo tes dnoces dna tsrif eht yletarapes gniddA
-cirtser elbamitse-non eht gnicudortni dna )3.2( ni snoit

noit

v

02012j2j1i0
2j1j1-i

ˆˆˆˆˆˆ 0=t+t=t+t=t=t ,teg ew 

1-
012101

ˆ Q)rrv(=t  , 1-
022102

ˆ Q)vrr(=t )4.2(

 erehw ji0i
1j

Q=Q b ,2 ,1 = i rof ecniS .2 ,1 = i   , iki

v = iri v = v dna 1 v + 2 -auqe fo tes tsrif eht morf teg ew , 
)3.2( ni snoit

1-
221111

ˆ )QEv+Q(k=tW )5.2(

 erehw 1-
1211121 )Ikrk+C(kb=W

d htob taht emussa ew woN 1 d dna 2 os detcennoc era 
C fo stoor citsiretcarahc eht taht i era 

i2111 0viλ,...,0>λ,0=λ gnidnopserroc eht dna ,

  era srotcev citsiretcarahc lanogohtro 21 ,...,,
iviii

 1, <  i < taht ees ot ysae si ti nehT  .2 

)kkr(kb 1
21j112

W fo toor citsiretcarahc a si )0>( 1 -retcarahc eht htiw 

, rotcev citsi jiλ  1 , <  j < v 1 W eroferehT . W1 evitisop si 
taht os etinifed

11
221111̂ QEvQWkt )6.2(

yaw emas eht nI

1-1-
112222

ˆ QEv+QWk=t )7.2(

 erehw 1-
2122212 )Ikrk+C(kb=W si hcihw 

mus tnemtaert detsujda eht eroferehT .xirtam .d .p a osla
yb nevig si )1 – v .f .d htiw( serauqs fo

1-1-
2221112211

ˆˆˆ )QWQ+QWQ(k=Qt+Qt=Qt )8.2( 

H gnitset rof elbat AVONA eht ecneH 0 t : 1 t = 2 . . . = 
t = v .detcurtsnoc ylisae eb nac 

C demussa evah ew sa niagA i d fo xirtam-C eht , i sah 

 stoor .hc eht
ivi211i 0 >λ ,.... ,0 >λ ,0 =λ htiw ,

 srotcev .hc gnidnopserroc eht 21 ,....,,
iviii ,erehw ,

2/1-
i1i 1.v =η -am-C eht taht nwohs eb nac ti neht ,

.hc lamronohtro dna stoor .hc gniwollof eht sah d fo xirt
.srotcev
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1 erehw i v era 1 dna  i seitinu fo srotcev lxv dna l×

 ,2 ,1 = i ,ylevitcepser 1 v×1=O i .2 ,1 = i ,xirtam llun 
.ammeL gniwollof eht teg ew suhT

: 1.2 ammeL d fi detcennoc si d  1 d dna 2 -noc era 
.ylesrevnoc dna detcen

seitreporp lairotanibmoc emoS.3

puorg-artni dna-retni decudortni )2491( oaR dna riaN
deiduts osla saw hcihw )DBBGII( ngised kcolb decnalab
ereht teL .srehto dna )5691( yrakihdA ,)2691( netsroC yb

G spuorg m otni dedivid stnemtaert v eb 1 G , 2 G ,. . . , m
v ylevitcepser gnivah 1 v , 2 v ,........ , m ylsuoivbo( stnemtaert 

m

iv=v skcolb b ni degnarra era stnemtaert eht fi nehT .)

G ot gnignoleb tnemtaert yna taht hcus k ezis fo hcae i
r srucco i G fo stnemtaert owt yna dna semit i rucco 

 ni rehtegot iiλ G fo tnemtaert yna ,skcolb i htiw srucco 

G fo tnemtaert yna j  ni jiλ ngised eht fo skcolb 

ji1 -retni ot DBBGII siht ezilareneg won eW .m -
ngised kcolb decnalab yllaitrap puorg-artni dna

v eht teL .)DBBPGII( i G ni stnemtaert i -rap a wollof 
 yllait S emehcs noitaicossa decnalab i  1 ,  i eht dna m 

vi v ’i , G morf stnemtaert fo sriap i G dna i depuorg eb nac ,
m , otni ii  stes ii 1 -lof eht evah ew nehT .m 

.noitinifed gniwol
 : 1.3 – noitinifeD b ni degnarra stnemtaert v fo tes A

seifsitas ti fi DBBPGII na eb ot dias si k ezis fo skcolb
: snoitidnoc gniwollof eht

)i G ot gnignoleb tnemtaert yrevE i r ni srucco i

 1 ,skcolb  i .m 
)ii G fo stnemtaert owt yna fI i ,etaicossa htj era 

  ni rehtegot rucco yeht neht )i(
jλ m ,... ,2 ,1 = j ,skcolb 1,

 1 i .m 

)iii G ot gnignoleb t tnemtaert ynA i -taert yna dna 

 ot gnignoleb tnem iG  ni rehtegot rucco , ( )α
iiλ fi ,skcolb ,

 eht morf nesohc era stnemtaert owt eht  fo tes ht iivv ,

1 ,stnemtaert fo sriap   iim  1 ,  i  i .m

DBBPGII yb ngised a hcus etoned su teL
()i( )α
iijm21i ,r,......,rr,k,b,v λ,λ fi ylsuoivbO .

)i(
jλ  dna ( )α

iiλ  dna j fo tnednepedni eb , ylevitcepser 

etats won eW .DEBGII ot secuder DEBPGII eht neht
.evorp ot ysae si hcihw meroeht gniwollof eht

 : 1.3 meroehT d s’DBIBP owt evah ew fI 1 d dna 2
sretemarap htiw

di v( i b , i r , 0i k , i  , jiλ m ,... ,2 ,1 = j , i  1 ,)  i nehT .2 

d fo DPDS eht 1 d dna 2 sretemarap htiw DBBPGII na si 

v = v 1 v + 2 b = b , 1b2 r , 1 r = 01 b2 r , 2 r = 02 b 1 k = k , 1 k + 2,

)2()2()i(
020121i1j2jjj1j r.r=λ,mj1,b.λ=λ,b.λ=γ

 : 1.3 yralloroC d fI i d sretemarap htiw DBIB a eb i

v( i b , i r , 0i k , i  , iλ d = d neht ,2 ,1 = i ,) 1 d 2 DBBGII na si 
v = v sretemarap htiw 1 v + 2

12222111102121 ,b.r=r,bb=b bλ=λ,bλ=λ

dna 1222 bλ=λ  dna  020121 .r.r=λ .

 : 2.3 yralloroC d fI 1 d dna 2 emas htiw s’DBIB owt eb 
v( sretemarap 0 b , 0 r , 0 k , 0, 0 slobmys tnereffid htiw tub )

d = d neht 1 d 2 ngised elbisivid puorg ralugerimes a si 
.)DDGRS(

 : foorP d fo tnemtaert eht teL 1 G puorg a mrof 1 = i ,

toor citsiretcarahC rotcev citsiretcarahC 

)1( 1 0 2/1 1v


)2(
1-

j112122 )λk+kr(bk=μ 1j 2~ji~vj2,O,η=η

)3(
1-

211v vrrk=1+μ
1

1111 --
2222

2121211+v 1V)VV(-1V)vv(=η

)4(
1

1-
)j22121j+v k+kr(bk=μ 2j21j vj2,)η0(=η )9.2(

ladnaM dna saD
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sngised tcudorp tcerid cilobmyS

era puorg emas eht fo stnemtaert owt yna tel dna 2 ,1
spuorg tnereffid fo stnemtaert owt yna dna etaicossa tsrif
taht ees ot ysae si ti nehT .etaicossa dnoces era

d = d 1 d 2 spuorg owt htiw DDG a si 
sretemarap htiw ,hcae stnemtaert v gniniatnoc

2
00100000 ,rb=r,k2=k,b=b,v2=v λb=λ dna 

2
02 r  taht nees ylraelc si tI  . 2 0v-kr taht os ,

.DGRS a si ngised eht

 : 3.3 – yralloroC d fI 1 d dna 2 neht s’DBBGII owt eb 
d = d 1 d 2 .DBBGII a niaga si 

 : 2.3 meroehT d fI 1 d dna 2 -icossa-m owt tneserper 
tnemtaert eht rof tpecxe emas era hcihw s’DBIBP eta

d = d neht slobmys 1 d 2 )1 + m( htiw DBIBP a sevig 
.sessalc etaicossa

 : foorP vi( ,... ,)2i( ,)1i( teL 0 v eht tneserper ) 0 -mys 
d ngised eht fo slob 1 v eht taht hcus era hcihw , 0 -taert 

d fo stnem 1 S emehcs noitaicossa na evah i -meht gnoma 
d fo tnemtaert yna enifed su teL .2 ,1 = i ,sevles 1 na eb ot 

d fo tnemtaert yna fo etaicossa ht)1 + m( 2 B fi oslA . 0j eb 
d fo stnemtaert eht fo xirtam noitaicossa htj eht 1 dna( 

d fo ecneh 2 a ylsuoivbo si d neht m ,... ,2 ,1 = j )osla 
secirtam noitaicossa eht htiw DBIBP etaicossa )1+m(

sa

Bj  = 0j

0j

0B
B0 fi = ,m... ,2 ,1 = j

E0
0E fi 

1 + m = j

v a si 0 erehw 0 v 0 v a si E dna xirtam llun 0 v0

.ytinu stnemele lla htiw xirtam

yb decudortni saw ngised yranret decnalab yllaitraP
-icni eht gnivah d ngised A .)3791( reredeF dna kiaP

N xirtam ecned b×v gnirrucco hcae 2 ,1 ,0 stnemele htiw 
decnalab yllaitrap eb ot dias si ,wor hcae ni eno tsael ta

fi ngised yranret

NN a = 0B0 a + 1B1 a + . . . + mBm )1.3( 

B erehw 1  i( s’ dna secirtam noitaicossa eht era )1 
B0 v si a dna ytitnedi v i esoppus woN .sralacs era s’

a setoned N xirtam ecnedicni eht htiw d ngised taht

 sretemarap htiw DBIBP 01000 ,r,b,v λ  dna 02 nehT 
.meroeht gniwollof eht evah ew

 : 3.3 meroehT d0  d = yllaitrap a sevig d 
.ngised yranret decnalab

 : foorP N taht gniton yb swollof foorp ehT 0 N = 1 

N2 N = 1 N + 2 N , 1 N = 2 tcerid eht setoned + erehw ,N = 
taht nwohs eb nac ti nehT .N fo snmuloc eht fo mus

N0N 0 .)1.3( ni sa erutcurts emas eht sah 

 : 3.3 yralloroC d neht ,DBIB eb d fI 0  d = a si d
.)2591 rehcoT( )ngised yranret decnalab

 : 1.3 – krameR ot deunitnoc eb nac ssecorp sihT
.sngised yna-n decnalab yllaitrap fo decnalab evah

: seitreporp mumitpO.4

-reporp mumitpo eht deiduts evah ew ,noitces siht nI
tnenopmoc eht fo esoht morf ngised devired eht fo seit

.sngised

 tel ,htiw trats oT D fo noitcelloc eht eb )k ,b ,v( 
nevig htiw sngised reporp dna etacilperiuqe yranib lla
)skcolb fo rebmun( b ,)seiteirav fo rebmun( v sretemarap

C tel ,ledom evitidda lausu eht htiW .)ezis kcolb( k dna d
yroeht eht nehT .d ngised eht fo xirtam tneiciffeoc eht eb
eht htiw denrecnoc si ngised latnemirepxe lamitpo fo
emos sesiminim hcihw ngised a gnitceles fo melborp

 lanoitcnuf ψ C fo d sliated rof( sngised elbissop lla revo 
))5791( refeiK( nwonk si tI .))5791 ,9591( refeiK ees
cirtemmys yletelpmoc si xirtam-C ,d ngised a rof fi taht
htiw sngised hcus dnA .lamitpo yllasrevinu si ti ,).s .c(
fo ssalc detcirtser emos rof ylno tsixe .s .c xirtam-C
eht otni dekool )8791( gnehC .k dna b ,v fo retemarap
si xirtam-c hcihw rof( DBB on saw ereht erehw esac

.airetirc 2 epyt dna 1 epyt eht decudortni dna ).s.c
 teL B 0,v secirtam cirtemmys v×v fo ssalc eht eb 

C teL .seorez lla smus nmuloc dna wor htiw d xirtam a eb 
v ot gnignoleb 0  d erehw D sngised yranib fo ssalc a ,

C fo stoor-hc eht tel dna k ,b ,v sretemarap htiw d eb 

21 0,....,0,0 vddd lliw *d ngised a nehT .
eht fo stoor eht fi lamitpo 2-epyt ro 1-epyt dellac eb

C xirtam detaicossa d  lanoitcnuf eht esiminim ψ denifed f

 yb
v

id
2=i

(f )λ ,xevnoc yltcirts ,suounitnoc si f erehw ,

dna sevitavired suounitnoc gnivah gnisaerced yltcirts
rof xevnoc yltcirts dna I-epyt rof evacnoc yltcirts gnieb

 ,2-epyt .e.i  0<f,0>f,0<f I-epyt rof 

dna 0 > f .2-epyt rof

 : 1.4 meroehT  teL id Di, 1=i -epyt ro I-epyt eb 2 

 ngised PDS eht nehT .lamitpo 2 21 ddd osla si 
sngised fo ssalc eht ni lamitpo 2-epyt ro I-epyt

D=D1 D2=

d{ 0 d/ 0 d= 1 d2 d, 1 D1 }2,1=i,
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 : foorP d fo toor a eb x fi taht )9.2( morf eton eW 1
d fo toor a eb y dna 2 fo stoor ev)+( eht neht )0 > y ,0 > x( 

d0 rehtona dna yd + c = )y(w ,xb + a = )x(g yb nevig era 
 toor d fo sretemarap eht no sdneped ylelos hcihw 1

d dna 2 .0 > c ,0 > d ,0 > b ,0 > a )2-noitceS morf( erehw ,
d woN 0 fi lamitpo 2 ,1 = i ,i epyt eb dluow 

yX

(f+))Y(W(f+))x(g(f )μ muminim si

d sngised lla rof 0  D tsrif eht evorp ot tneiciffus si tI .

 etirw nac ew woN .trap
xx

)x(F=)x(g(f ,

-saercni yllacinotonom ,suounitnoc si g ,)g(f = F erehw
-reporp eht lla seifsitas F taht swollof ti eroferehT .gni

d ecnis tuB .) (f fo seit 1  ,.tpo i epyt si 
x

)x(F.2,1=i

 taht seilpmi hcihw ,nim si
x

))x()g(f ecneH .nim si

.devorp si meroehT eht

si yralloroc gniwollof eht ,meroeht evoba eht morF
.etaidemmi

 : 1.4 yralloroC d ngised ehT 0 d = 01  d 02 d erehw 01

d dna 02 -po si ,sretemarap evitcepser htiw )s’DBIB( era 
,1 = i ,i epyt fo airetirc ytilamitpo ot tcepser htiw mumit

 sngised lla gnoma 2 D d = d { = 1 d 2 d , 1  D1 d , 2 D

2  erehw D i -mocni( reporp detcennoc lla fo ssalc eht si 
}.2 ,1 = i ,sngised kcolb )etelp

 : 2.4 yralloroC v = v sretemarap htiw DBBGII 1 + 
v2 b = b , 1b2 k = k , 1 k + 2 r , 1 r = 01 b2 r  , 2 b.02r = 1  , 111 = 

1b2  , 22  = 2 b. 1  dna  2 r = 01 r 02 nihtiw mumitpo si 
tcepser htiw 2.4 yralloroC ni esoht ot ralimis sngised PDS

.2 ,1 = i ,i epyt fo ytilamitpo ot

 : foorP .1.4 dna 1.3 seiralloroC morf swollof foorP

: SECNEREFER

-curtsnoc dna seitreporp nO : )5691( .B ,yrakihdA
.snoitacilper elbairav htiw sngised kcolb decnalab fo noit

 ,.lluB .cossA .tatS .laC 41 .46 – 63 :

ni noitacilper lanoitcarF : )6591( .M .I ,itrovarkahC
decnalab laitrap dna sngised lairotcaf lacirtemmysa

 ,ayhknaS .syarra 71 .46 – 341 :

-mysa niatrec fo ytilamitpO : )8791( .S .C ,gnehC
 .tsitatS .nnA .sngised latnemirepxe cirtem :6 .16 – 9321 

sngised kcolb decnalaB : )2691( .A .C .L ,netsroC
,scirtemoiB .snoitacilper fo rebmun tnereffid owt htiw

81 .91 – 944 :

.sngised latnemirepxe mumitpO : )9591( .J ,refeiK
 ,.tsitatS .yoR .ruoJ 12B .91–272 :

fo ytilamitpo dna noitcurtsnoC : )5791( .J ,refeiK
lacitsitatS fo yevruS A .sngised neduoY desilareneg
htroN ,)avatsavirS .N .J yb( sledoM raeniL dna sngiseD

.35 – 333 ,madretsmA ,.oC gnihsilbuP dnalloH

fo suluclac A : )2691( .M ,neleZ dna .B ,naijkruK
– 006 – egap ,.tatS .htaM .nnA ,stnemegnarra lairotcaf

.91

kcolb etelpmocnI : )2491( .R .C ,oaR dna .R .K ,riaN
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